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JHRGtD otMBE =& 2te|
Kot 2tel(Xot=2elEE3 SEFED)
SA - HE - O(BH) - MRAY - B2 Ofl ko4 ST =2
At 59,737 255,892 A196, 155
ot orMsH =& zte| 59,737 52,486 7,251
ot 22l (XIst=22I SE3lAH) 59,737 52,486 7,251
Aot 0182E3 22U+ 59,146 49,928 9,218
201 LEt23H| 50,810 41,592 9,218
01 AtR 22|l 4,370 4,370 0
OLRXIA CI24 140,000 140
OXZglH EH 72 2,100,000& 2,100
O S 2228 M& 420,000& 420
O==&2=32 =4 200,000 200
O=AEX 800,000 800
OLRNNLES SEME 110,000& 110
OXIote ZelfEs =
100,0002+6Z 600
02 S323H| 46,440 37,222 9,218
OExXot+=2=2 S4ld|
50,000 *12& 600
OXtS XAl 30,0002 *1CH 30
OS2 = 550,000+ 1CH 550
O At 100, 0002 1CH 100
OXtgH = 180,000 *12& 2,160
OXtets X2l 2,500,000 *1CH 2,500
OEXXots=2=2 AIES X
4,500,000 x4 2~ 40,500
202 048l 500 500
01 =SLHAHI 500 500
OXIot==2t&d AIOILE &4
250,000 *23| 500
203 @R F=&Y| 836 836
03 Al Z=XIAH L F=XIH| 836 836
OXlot2e| AZFE 880, 000 *95% 836
401 AIEHIZL 20| 7,000 7,000
01 A& HI 7,000 7,000
OXlot=<XISHZ 3,000,000& 3,000
OXIot= HEI| wHl
200,000 *200H 2 4,000
Aot 22l olglgl 591 2,558 A1,967
801 oilglbl 591 2,558 1,967
01 Letaidl gl 591 2,558 AN1,967
Ooildlgl 591,000& 591






